_FRIESE
%%Z&%&’%#ﬂ%’l

A% 5581
TEL 076(225)1828

SRS EER)IBRANBEFREBAFZOZHRRI (24 3H)

1 AIUSFEFREBAZERR
(£B84%]) 23K45%FH4a3—X (R4 231%45%F F40—R)
Ok, HENHYERLI-2H - 258 - 0—R  23843%R40—R)
(E B O (R4 0%%)

2 HBAFZRKR

£ Bl
g géﬁg—*‘fﬂ R HEEES | SR | kEsEl | IREYR | ZHREE
ER N (@) (N (b) (N (b/a) & (e) (N) | (d=b—c) (N) (d/a) ()
5EE 3,560 690 640 0.93 0 640 0.93
AEE 3,560 694 601 0.87 2 599 0.86
13 0 A4 39 0.06 A2 41 0.07

3 FR - FRBEBAZZRIRE (28]

(1) PREFNT VR (2) ZFREEFENFVER-0—X
JE s EHA IBE Btz | % & 4 FR-O-R ifEE
1 /ML 175 1 |IT% THAY 3.00
2 |HEEE 1.55 2 |HBE MERE 2.80
3 |z 1.34 3 /AT (ERGEA | 250
4 |/aTZE 123 4 |T% g % 1.90
4 |EIREXE 1.23 5 [FMETE ER-TH421.70
4 BREHHE

(1) EEERER HBEAFERETOIITATOFR £AH 23K
(2) EXEBEER  £BH1 1%
CEHED M, FIE E GREFRD o BE, &IULE. SRmb. N
i GRE AR . BB, RERS. /MR TNE ()
(3) EMRERMR =HHI6K
ek (AR—YFFEa—2) ERREE G —2) THETER, 79A 8D
HE (A R —VERRARD . BRARE GHEIRD . IMAT GEff = — %)

BE> HEBAR, BEEEAZRUHREAZICETOISROTE
-28 98 (K HBEAZRUESERAZOSRAEERARR CREREOBN
HREAZFEEHLE



FHSHEE AURFFR ERAZ(ZAF) OZREZFORE  (1/2)
£ BHIE231-45%H40—X

(BT N)
Hi FERE E mEE

A 2HA BETE| M| HREE | LR | xnE | 2nEs| 2ngE| (BE
A B C |c/Bug| D |E=C-D|E/B()
BT L 80 16 11| 0.69 0 11| 0.69
REFRZE BHREDSHRX 40 10 11 1.10 0 11 1.10
N 120 26 22| 085 0 22| 085
2|hn = HwEFER 80 12 4] 033 0 4] 0.33
3/ W B E|REBEBECRZX] 160 40 46| 1.15 0 46| 1.15
B 2T L 80 20 26]  1.30 0 26| 1.30
E % 80 20 25| 1.25 0 25| 125
M TR OB OK 40 10 14| 1.40 0 14| 140
MEE=E 40 10 9] 0.0 0 9] 0.90
N E 240 60 74  1.23 0 74| 1.23
F H HweFE 160 32 11 0.34 0 11| 0.34
' & 120 12 5/ 042 0 5| 0.42
&% k| EBEARN-VRE) 40 10 10| 1.00 0 10/ 1.00
N F 160 22 15 0.68 0 15| 0.68
T @A 80 8 0| 0.00 0 0] 0.00
N 7F| #HBEEH 80 16 3l 0.19 0 3] 0.19
IN & 160 24 3] 013 0 3| 013
2 E|BREe7)—8%F] 160 32 19| 0.59 0 19[ 0.59
T @A 80 8 0| 0.00 0 0] 0.00
ERRE R #FHEGEW 40 10 7| 0.70 0 7| 0.70
IN & 120 18 7| 039 0 7| 0.39
& R B E|REBEBRECRZ] 280 70 86| 1.23 0 86| 1.23
BT L 80 20 17| 0.85 0 17| 0.85
E = 40 10 19| 1.90 0 19| 1.90
BFIEHR 40 10 10| 1.00 0 10/ 1.00
I | MBEMEFE 40 10 10/ 1.00 0 10/ 1.00
I = 40 10 12| 120 0 12| 1.20
TXRAL(IWIE 40 10 9] 0.90 0 9] 0.90
THAY 40 10 30/ 3.00 0 30| 3.00
N E 320 80 107| 1.34 of 107| 1.34
& R dt | #KEFEH 200 30 18]  0.60 0 18| 0.60
£ R M@ B T & 120 12 3] 025 0 3] 0.25
A i = & 120 12 1| 0.08 0 1| 0.08
AR—VRERF 80 20 19| 095 0 19| 0.95
= 1®  REFH 80 8 3] 038 0 3| 0.38
N E 160 28 22| 079 0 22| 0.79
B AT L 40 10 7| 070 0 7| 0.70
PHEIXR T = 40 10 7| 0.70 0 7| 0.70
BE-THAY 40 10 17| 1.70 0 17| 1.70
N 120 30 31  1.03 0 31| 1.03
% E & @& 80 8 1] 013 0 1| 0.13
B XT L 80 12 4| 033 0 0.33
tERE E & 20 5 4| 080 0 0.80
He2H 60 9 3] 033 0 0.33
INE 160 26 1] 042 0 11| 0.42




SHSEE AUEFFER HBAZ(Z2BH) OZFREHRFDOKR (2/2)
(B A)
HH BERE T miEE

NO| A Sag 2 nEca| BN nEE Y| B R cEEy| ey 2ees| EE
A B C |c/Bu®)| D |E=C-D|E/Bg)
HEFE 40 10 28]  2.80 0 28| 2.80
19|B # JE| {@BEEA 40 10 3| 0.30 0 3] 030
N EF 80 20 31| 155 0 31] 155
T & 40 6 1] 0.17 0 1] 017
20|&E B OMEEX 40 6 4| 067 0 4| 0.67
N EF 80 12 5 042 0 5 042
= =R 40 4 2| 050 0 2| 050
21|94 Al T@EFYUT) 40 4 4 100 0 4] 1.00
N EF 80 8 6] 0.75 0 6] 0.75
5 & 120 18 24| 1.33 0 24| 133
220/ # T 3| EHaEGERD 40 10 25| 250 0 25| 2.50
MmO 160 28 49| 1.75 0 49| 175
wOW 80 20 22| 110 0 22| 1.10
E = 40 10 12| 1.20 0 12| 1.20
23|&RHIITE| EFER 40 10 9] 0.0 0 9] 0.0
B E 40 10 15| 150 0 15| 1.50
r =K 40 10 10| 1.00 0 10/ 1.00
N E 240 60 68| 1.13 0 68 1.13
2 B & &t 3560 690/ 640 093 0| 640/ 093




